
Read each expression, then circle the expression that is not equivalent.

	 1.	 21gg

	 a. 7(3gg) 	 b. 19gg – 2gg 	 c. 6(4gg) – 3gg 	 d. 7gg + 7gg +7gg

	 2. 	 mm(2 – 9) + 7nn

	 a. 7mm + 7nn	 b. -9mm + 2mm + 7nn	 c. 7nn – 7mm	 d. 7(-mm + nn)

	 3.	 2(2pp + 10)

	 a. 4(pp + 5) 	 b. 4pp + 20 	 c. 10 + 4pp + 10 	 d. 24pp

	 4.	 6xx + 24 + 12yy

	 a. 6(xx + 2yy + 4) 	 b. 24 + 12yy + 6xx 	 c. 2(3xx +6yy) + 24 	 d. 24 + 4(2xx + 3yy)

	 5. 	 -5qq – 10 – 3qq

	 a. -10 – 8qq 	 b. 2(-4qq – 5) 	 c. 10 – 2(4qq) 	 d. -4qq – 4qq – 10

	 6. 	 40rr + 20ss

	 a. 10(2s s + 4rr) 	 b. 10rsrs (4 + 2) 	 c. 10ss + 40rr +10ss 	 d. 20(2rr + ss)

	 7. 	 -11kk

	 a. 11kk – 22kk 	 b. -5(2kk) – kk 	 c. 11 – 11kk + 11 	 d. -11(kk + 1) + 11

	 8. 	 4(3tt – 1 + uu)

	 a. 12tt + 4uu + 4 	 b. 4(3tt + uu) – 4 	 c. -4 + 12tt + 4uu 	 d. 2(6tt – 2 + 2uu)

	 9. 	 6vv + 9ww – 6vv

	 a. 3vv + 9ww – 3vv 	 b. 3(2vv + 3ww – 2vv) 	 c. 6(v + 2ww – vv) 	 d. 9ww

	 10. 	 7ee – 14 ff + 7ee

	 a. 7(2ee – 2ff) 	 b. -14 ff + 14ee 	 c. 14(ee – ff ) 	 d. 14ff – 7ee + 7ee
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Read each expression, then circle the expression that is not equivalent.

	 1.	 21gg

	 a. 7(3gg) 	 b. 19g – 2g  	 c. 6(4gg) – 3gg 	 d. 7gg + 7gg +7gg

	 2. 	 mm(2 – 9) + 7nn

	 a. 7m + 7n	 b. -9mm + 2mm + 7nn	 c. 7nn – 7mm	 d. 7(-mm + nn)

	 3.	 2(2pp + 10)

	 a. 4(pp + 5) 	 b. 4pp + 20 	 c. 10 + 4pp + 10 	 d. 24p

	 4.	 6xx + 24 + 12yy

	 a. 6(xx + 2yy + 4) 	 b. 24 + 12yy + 6xx 	 c. 2(3xx +6yy) + 24 	 d. 24 + 4(2x + 3y)

	 5. 	 -5qq – 10 – 3qq

	 a. -10 – 8qq 	 b. 2(-4qq – 5) 	 c. 10 – 2(4q) 	 d. -4qq – 4qq – 10

	 6. 	 40rr + 20ss

	 a. 10(2s s + 4rr) 	 b. 10rs (4 + 2) 	 c. 10ss + 40rr +10ss 	 d. 20(2rr + ss)

	 7. 	 -11kk

	 a. 11kk – 22kk 	 b. -5(2kk) – kk 	 c. 11 – 11k + 11 	 d. -11(kk + 1) + 11

	 8. 	 4(3tt – 1 + uu)

	 a. 12t + 4u + 4 	 b. 4(3tt + uu) – 4 	 c. -4 + 12tt + 4uu 	 d. 2(6tt – 2 + 2uu)

	 9. 	 6vv + 9ww – 6vv

	 a. 3vv + 9ww – 3vv 	 b. 3(2vv + 3ww – 2vv) 	 c. 6(v + 2w – v) 	 d. 9ww

	 10. 	 7ee – 14 ff + 7ee

	 a. 7(2ee – 2ff) 	 b. -14 ff + 14ee 	 c. 14(ee – ff ) 	 d. 14 f – 7e + 7e
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